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SOLUTIONS/QUESTIONS FROM THE HOMEWORK???
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Linear Inequalities:

5 Inequality sign - could be one of the following...
o
Cr [ESS THAN
LESS THAN OR EQUAL TO
GREATER THAN GREATER THAN NOT EQUAL TO
OR EQUAL TO

When solving an in-equation, all the steps are the
same EXCEPT when 1t comes to isolating

> BOBBY ORR

4 | £_| 11 , fillin the box. ‘*\%
sel N

R_/ 1967 ROOKIE OF THE YEAR

Now divide both by -1

4 | 7 |-11, fill in the box.

RULE: If you multiply or divide by a negative,
reverse the inequality sign!!!
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NOTES - Graphing a Linear Inequation.docx

D

When the solution set to a linear inequality is continuous and the sign does not include equality, use
a dashed line for the boundary and shade the solution region.

Example: Graph the solution to: 2x -3y < 6. /Z

First, solve for the equation in the slope - y intercept fcrrm/é mx + é}l

2x=-3y<B = D/}X 4
-3};.-:.-};“ g STEP 1: Graph the boundary line
y>(2/3)x-2

Find the "equals" part, which is the line y = { 2/3 )x - 2. It looks like this:

But this example is a strict inequality. That is, it's only "y greater

than." We denote strict inequalities on the number line (such as x = 5)

by using an open dot instead of a closed dot. In the case of these

linear inequalities, the notation for a strict inequality is a dashed line.

50 the boundary line of the solution region actually looks like this: >
o 7/

STEP 2: Decide on dafhed or solid 4~

By using a dashed line, we can stilpi‘dentify the boundary line,
but the dashed line indicates that the boundary line isn't
included in the solution. Since this is a "y greater than"

::’;{zqii-l;ii:tm we will shade above the ling, somisoluly_oolzso'v)
STEP 3: Pick a\test point’/and verify L
STEP 4: Shade e 74)51“‘3( Hhin” 4
Ingvan®iy >
VIDEO - Graphing Inequalltles J“’) }“) T b..S

0
\ Click HERE to watch

the video!!!



http://www.khanacademy.org/math/algebra/ck12-algebra-1/v/graphing-inequalities
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EXAMPLE #5... Test
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HOMEWORK...
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Puzzle Worksheet - Graphing Linear Inequalities with Two Variables.pdf
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@ ys=x+2
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When the solution set fo a linear inequality is continuous and the sign does not include equality, use

a dashed line for the boundary and shade the solution region.

Example: Graph the solution to: 2x -3y <6.

First, solve for the equation in the slope -  intercept form (y = mx + b).

2x-3y<6 .
3y<-2c+6  |STEP 1: Graph the boundary line
y>(23)x-2

Find the "equals" part, which is the line y = ( 2/3 )x - 2. It looks like this:

But this example is a strict inequality. That is, it's only "y greater
than." We denote strict inequalities on the number line (such as x > 5)
by using an open dot instead of a closed dot. In the case of these
linear inequalities, the notation for a strict inequality is a dashed line.
So the boundary line of the solution region actually looks like this:

STEP 2: Decide on dashed or solid

By using a dashed line, we can still identify the boundary line,
but the dashed line indicates that the boundary line isn't
included in the solution. Since this is a "y greater than"
inequality, we will shade above the line, so the solution looks
like this:

Pick a 'fest point’ and verify

Shade or stipple

VIDEO - Graphing Inequalities
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~_What Is the Proper Thing to Say when

«&>> You Introduce a Hamburger ? &£3-

Graph each inequality below. Then read the tw
exercise. Circle the letter of the statement that
Print this letter in each box at the bottom of the

@ y<x+2

0 statements under the coordinate grid for that
correctly describes the location of the graph.
page that contains the exercise number.

@ y=-2x-3

yA

@ y<§x—1
12

s i
o ) X * ) X 0 X
Y ¥ R T ]
A All four quadrants; N Quadrants |, Il, IV: R Quadrants |, III, IV;

includes boundary line.

| Quadrants 1. II. IV: Y

includes boundary fine

excluces boundary lire.

Quadrants |, IIl, 1V:

excludes boundary line.

includes boundary line.

P All four quadrants;

includes boundary line.

@ y>—%x+1

@ y<%x—2

@ y=-x+3

YA

2! vh | [T 11
HEN
[
T
" o) X = o) X 0 X
7 y Y
O Quadrants I, 11, IV: M  Quadrants I, IIl, IV: L Al four quadrants:

includes boundary line.

E Quadrants |, II, IV: S

excludes boundary line.

excludes boundary line.

Quadrants |, Il, IV;

excludes boundary line.

includes boundary line.

T Quadrants |, II, IV:

includes boundary line.

5 4 4

~&S

6 3 1 6

e

OBJECTIVE 2-h: To graph linear inequalities in

two variables (inequalities are solved for y).

© 1989 Creative Publications 1 97





Why Did the Three Pigs Leave Home? —

Graph each inequality below. Circle the |

describes the location of t
page 31 that contains the

@ y>-12-x—3
2

he graph. Print
number of the exercise.

@ x+y>

etter of the statement that
this letter in each box at the bottom of

correctly

@ 2x—3y<12\
y‘

Srocen URC
S5x+3y<x+6

y‘
e y‘
X x
0 4 N
] ¢ o X 0
4 b I
D Quadrants I, 11, Iv; S Quadrants I, I, Iv; 4 4
includes boundary line. excludes boundary line. K Quadrants |, 11, Iv; F Al four quadrants;

excludes boundary line.

excludes boundary line
E  All four quadrants; B Al four quadrants;
includes boundary line. includes boundary line. U Quadrants II, i, Iv; P Quadrants 1, 1I, 11
includes boundary line. excludes boundary line
I Quadrants I, 1, 1v; F Quadrants Ly,
excludes boundary line. excludes boundary line. I All four quadrants: M Quadrants |, 1, v,
includes boundary line. excludes boundary line
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] B B S
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. Us Y= g
U Quadrants I, lll: W Quadrants Ii, il & 38 28 3% |o
includes boundary line. excludes boundary line. @ -
b (> o4 d
H Quadrants |, II; G Quadrants |, lI:

includes boundary line.

excludes boundary line.
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